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SmA# 157
B4z (K4 #4 | ouT IN 50A | "o« Fyb IE{L | K4 4 ouT IN 4'AR NIT 4 29k
1 |#1HE =FR 35 37 72 3.6 68.4 51 |ZEH i 47 52 99 228 76.2
2 |[FH Hi# 48 43 91 20.4 70.6 52 |HFA BE 52 47 99 228 76.2
3 [llim E 43 39 82 10.8 71.2 53 |/hm &— 54 51 105 28.8 76.2
4 B8 #HE 44 49 93 21.6 71.4 54 |BIE EFX 51 41 92 15.6 76.4
5 |{FiE Xt 38 43 81 8.4 72.6 55 |FEr RiIFE 46 51 97 20.4 76.6
6 |JIlE ERE 43 38 81 8.4 72.6 56 |1TBR & 50 47 97 20.4 76.6
7 |®RHA §h7 44 43 87 14.4 72.6 57 'hE EW 46 63 109 324 76.6
8 |=AR =8 47 46 93 20.4 72.6 58 | A BEX 40 44 84 7.2 76.8
9 |EH E— 50 49 99 26.4 72.6 59 [it & 44 46 90 13.2 76.8
10 |9l EX 49 48 97 24 73 60 2K =—H 50 46 96 19.2 76.8
11 [dest Jesh 45 45 90 16.8 73.2 61 |FH4A E— 60 48 108 31.2 76.8
12 |¥0H = 50 46 96 228 73.2 62 |BRE 46 37 83 6 77
13 |/niE EA 48 41 89 15.6 73.4 63 |t FE# 55 52 107 30 77
14 /Mg EE 49 46 95 21.6 73.4 64 = RE— 57 56 113 36 77
15 | =0 = 44 43 87 13.2 73.8 65 |Jllig &BH 50 44 94 16.8 77.2
16 ¥ & 44 49 93 19.2 73.8 66 [ZH =7 45 49 94 16.8 77.2
17 [ F HEx 46 47 93 19.2 73.8 67 |[RERM IERE 50 50 100 228 77.2
18 [A¥E & 48 45 93 19.2 73.8 68 |BER #UT 47 53 100 22.8 77.2
19 [Ba])Il #EK 46 40 86 12 74 69 | K& B&E 53 59 112 34.8 77.2
20 | K% ##8 49 43 92 18 74 10 |58 %8 49 44 93 15.6 774
21 |hF%F BF 49 43 92 18 74 71 [#8:8 BA 47 46 93 15.6 774
22 | BRI Eml 48 44 92 18 74 72 |3RIG = 45 48 93 15.6 77.4
23 |de)il & 53 45 98 24 74 73 [dtiE B 49 50 99 21.6 774
24 |)lig BiE 53 45 98 24 74 74 |EH HEER 48 51 99 21.6 774
25 |1¥% & 46 45 91 16.8 74.2 75 B 2% 60 51 111 33.6 77.4
26 |Bf AZ=HR 47 50 97 228 74.2 76 |HFH EAKF 51 53 104 26.4 77.6
27 [ & 49 48 97 22.8 74.2 77 | &E4T 58 52 110 324 77.6
28 |FIl SFk 42 42 84 9.6 74.4 78 |HA EE 45 52 97 19.2 77.8
29 [M¥ &X 46 50 96 21.6 74.4 79 (EAX #H— 52 45 97 19.2 77.8
30 |¥ARE AEE 39 44 83 8.4 74.6 80 |#5 K A 48 49 97 19.2 77.8
31 [iBig #0= 51 50 101 26.4 74.6 81 |ATH 7% 48 48 96 18 78
32 | EEA & 50 51 101 26.4 74.6 82 [KH BIEF 49 47 96 18 78
33 | EHKF 43 39 82 7.2 74.8 83 |80 If— 54 48 102 24 78
34 | E& #H= 50 50 100 25.2 74.8 84 |Nit 1 39 44 83 48 78.2
35 |¥ME T 43 38 81 6 75 85 |¥¥r BH 50 45 95 16.8 78.2
36 |#fH HEEF 46 47 93 18 75 86 |fB: HiE 48 53 101 228 78.2
37 |HH th— 51 48 99 24 75 87 |HO i 44 44 88 9.6 78.4
38 |FREl BRif 52 53 105 30 75 88 [HEH FEik 55 51 106 27.6 78.4
39 |FAHE M5 51 41 92 16.8 75.2 89 |;EA Fl&@ 51 48 99 20.4 78.6
40 |BE BHE 48 50 98 22.8 75.2 0 &K BE 52 53 105 26.4 78.6
41 [/l B 49 48 97 21.6 75.4 91 |F5 F= 48 50 98 19.2 78.8
42 |BK RA 44 52 96 20.4 75.6 02 |M\E B3 55 49 104 25.2 78.8
43 |HH =HE 51 45 96 20.4 75.6 93 |IU4E ; 54 49 103 24 79
44 |FEXK Fth 52 50 102 26.4 75.6 94 |pifE & 51 52 103 24 79
45 [FNIl —2 39 44 83 7.2 75.8 95 |K¥ =EF 55 48 103 24 79
46 ()3 &th 44 51 95 19.2 75.8 9% B wA 50 53 103 24 79
47 [FH BEF 57 50 107 31.2 75.8 97 |{EE FIEB 58 51 109 30 79
48 |pEit B 52 42 94 18 76 98 [AJIl & 43 47 90 10.8 79.2
49 |giTHE ZEif 47 46 93 16.8 76.2 99 |E¥F BRZE 45 45 90 10.8 79.2
50 |[ZH {E1T 48 45 93 16.8 76.2 100 AR 7=t 47 49 96 16.8 79.2
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B4z (K4 #4 | ouT IN 50A | "o« Fyb IE{L | K4 4 ouT IN 4'AR NIT 4 2yb
B4z (K4 #4 | ouT IN 50R | noT« Fyb IE{L | K4 4 ouT IN 4'AR NIT 4 2yb
101 3RAR IEE 51 51 102 228 79.2 151 |#3%F F 64 61 125 36 89
102 [3I1E =F 53 49 102 228 79.2 152 481l HBHEF 58 67 125 36 89
103 |HH = 45 50 95 15.6 79.4 153 (&£ K FFsh 70 48 118 27.6 90.4
104 [#AF IEX 54 47 101 21.6 79.4 154 |5 H Fif 57 70 127 36 91
105 (¥ 1F 49 52 101 21.6 79.4 155 |{@#h [E— 64 60 124 31.2 92.8
106 [BA &EX 48 46 94 14.4 79.6 156 |§ftH 2F 71 59 130 36 94
107 [LUsp TR 51 49 100 20.4 79.6 FHE|TH ER

108 [y E 58 48 106 26.4 79.6

109 [FLil FOosE 56 50 106 26.4 79.6

110 [H¥ & 56 56 112 324 79.6

111 [/hIE BBE 60 51 111 31.2 79.8

112 4515 EF 53 51 104 24 80

113 |f8H E1$ 51 46 97 16.8 80.2

114 [R 8% 49 47 96 15.6 80.4

115 [ K A1 53 49 102 21.6 80.4

116 |dbE B 54 54 108 27.6 80.4

117 |&ZH BE 50 45 95 14.4 80.6

118 ;&0 BHHF 51 50 101 20.4 80.6

119 |FIIl ZE 52 42 94 13.2 80.8

120 |BRH BB F 46 54 100 19.2 80.8

121 |ARER = /\BB 52 54 106 25.2 80.8

122 B = 58 53 111 30 81

123 [EEH EF 60 57 117 36 81

124 |5 AF 61 55 116 34.8 81.2

125 |&H X8 53 50 103 21.6 814

126 [db4T #— 53 60 113 31.2 81.8

127 |db1§ EF 59 58 117 34.8 82.2

128 |40 &E— 45 52 97 14.4 82.6

129 |$&A 1EA 50 53 103 20.4 82.6

130 5= BB= 50 53 103 20.4 82.6

131 |5H EF 61 58 119 36 83

132 /ML FOE 52 54 106 228 83.2

133 |ATH #F 58 54 112 28.8 83.2

134 [= F 3% 49 55 104 20.4 83.6

135 |&H 1EM 61 49 110 26.4 83.6

136 [imA F18 60 60 120 36 84

137 | 7% FH 56 50 106 21.6 84.4

138 [FAAR VILS 53 58 111 26.4 84.6

139 |BBAX HiF 61 56 117 32.4 84.6

140 (A HAE 58 56 114 28.8 85.2

141 |HH BEXRF 58 59 117 31.2 85.8

142 |4 IEFE 50 54 104 18 86

143 [l FER 57 59 116 30 86

144 |IRER EAH 63 59 122 36 86

145 |Fl B2 59 60 119 324 86.6

146 | FE Rt 61 51 112 25.2 86.8

147 [lLU#z EZ= 55 57 112 25.2 86.8

148 |B9i5 EtF 69 54 123 36 87

149 |4 IEX 65 58 123 36 87

150 |E&JIl =B 56 60 116 27.6 88.4
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